
16/11/23 MATH4030Tutorial -

announcements :

-HWJ due 27/11

Recallia geometric quantity is called "intrusic" if it only depends on themetric[g)
in otherwords, if his nament under isoretives-

- a differmaphism 4 : M-N is an isometry if FpeM , deep : ToM ->TecpsN
preserves the metric , it

12

gr(V , w)p=gn(dep (v) , dep(u)(ecp).
1<VW>p =

<dep (v) , dep(u) >U(p) .

- a diffomaphism 4 : M-N is conformal if ApeM , V,WETPM,
gn(d4p(V) , deptw)Secps= X gm(V, W)p
for a nowherezers smoth fu & onM.
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=+ Egn) = Egaggi
Egy=6 . (fut) = 2ef'
sor? If

(f)+1g=gp
9 = tg" (6g+gn-Eg2) = Ig"Egy = E2ff
f
=F

.

↑= gi Eg = 0 .

asI = Ig(thug -Zig) =




